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1.

The correct order of basicity of oxides of vanadium is

(1) V,0,>V,0,> V.0, (2)V,0,>V,0,> V.0,
(3) V,0,>V,0,>V.0, 4)V,0,>V,0,>V.0,
T & SiaATSS] B &R HT I THH o
(1) V,0,>V,0,> V.0, (2)V,0,>V,0,> V.0,
(3) V,0,>V,0,>V.0, 4)V,0,>V,0,>V.0,
Question ID: 366694579
Ans.  Official Answer NTA (1)
Sol.  V,0,>V,0,>V,0,
As positive oxidation state increases acidic nature increases and basic nature decreases.
2. Match items of column-I and column-II
Column-I (Mixture of compounds) Column-II (Separatin Technique)
a. H,O/CHCl, 1. Crystallization
O OH
b. @iﬁ / © ii. Differential solvent extraction
NO,
c. Kerosene/naphthalene iii. Column chromatography
d. CH,0/NaCl iv. Fractional Distillation
Correct match is
(1) a-iii, b-iv, c-ii, d-i  (2) a-ii, b-iii, c-iv,d-i  (3) a-i, b-iii, c-ii, d-iv  (4) a-ii, b-iv, c-i, d-iii
A | qen =i 11 & A= &1 A STy
gAI-1 (A s GA-I1 (JAFHIOT AHTH)
a. H,O/CHCl, i. fheece
O OH
b. @ilj / © ii. fau (faerraes) frepgor
NO,
c. RRIR/Aureft MATRIX JEEMGAREMY:
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d. CH O /NaCl

671276

T e

v, JYTSiT T

(1) a-iii, b-iv, c-ii, d-i  (2) a-ii, b-iii, c-iv, d4 (3) a-i, beifi, c-ii, d-iv () a-i, b-iv, c-i, d-iii

Question ID: 366694582
Ans.  Official Answer NTA (2)

Sol.  A.H,0/CH,Cl, - ii, CH,CL > H,O (density) so they can be separated by differential solvent extraction.

O OH
B. @jij @ iii. column chromatography Due to H-bonding in it can be
NO,

separated from

OH

NO,

by column chromatography.

C. Kerosene / Naphthalene — iv. Fractional distillation. Due to different B.P. of kerosene and Naphthalene it

can be separated by fractional distillation.

D.CH,,0/NaCl — 1. Crystallization. NaCl (ionic compound) can be crystallized.

6712

3. Adding surfactants in non polar solvent, the micelles structure will look like

TV

Polar 1
head tal

Non Polar Solvent

Y2
(a) ;"p?q'—._k

non-polar (Surfactant structure)

Non Polar Solvent

o,
(b) Gr;}é&%
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Non Polar Solvent Non Polar Solvent
(© ? ? ? (d) é é §

(Hd @)c 3)b 4a

3UHTSI D1 AR e # e uR et 1 a1 fFr=iferRad 3 9 e UaR @l e fi?
s‘g‘cﬁq/‘ Wq\g (W ?H'Qil:ll)

NI

Non Polar Solvent Non Polar Solvent

e Ade
(a) [Hp ? OLLL., (b) d?é%b

Non Polar Solvent Non Polar Solvent
(© ? ? ? (d) é é g

(Hd 2)c ()b “4)a
Question ID: 366694573
Ans.  Official Answer NTA (4)

Sol.  When surfactant added in polar solvent following micelles structure is obtained.
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Non Polar Solvent

b
P

Non-polar tails will be towards non—polar solvent.

Cl
Cl
Cl
(1) > >
Cl Cl

Cl
Cl
) >
Cl
Cl
Cl
€) >
Cl

Cl

The correct order of melting points of dichlorobenzenes is

Cl

Cl
Cl

Cl

Cl

Cl

Cl

Cl
Cl
Cl
4) > >
Cl Cl
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SIS FARISIHT & foTY el &l TEl Y 2 :
Cl
Cl Cl
Cl
(1) > >
Cl Cl
Cl
Cl Cl
Cl
() > >
Cl Cl
Cl
Cl Cl
Cl
(3) > >
Cl Cl

Cl
Cl Cl
Cl
) > >
Cl Cl

Question ID: 366694584
Ans.  Official Answer NTA (3)
Sol.  Outof o, m, p-dichlorobenzene para isomer has maximum melting point due to symmetrical nature.
5. The methods NOT involved in concentration of ore are
a. Liquation
b. Leaching
c. Electrolysis
d. Hydraulic washing
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e. Froth floatation

Choose the correct answer from the options given below :
(1)aand c only (2)b,d and e only (3)b,d and c only
3D & AFEY H Sl fAfEl 81 Sua 1 Sl €, 98 8

a. qIqTel+

b. et

c. Jgd Jrgees

d. =dr gra

e. T wlad

A2 oY faepeni | 3 |8l SR Y |

(1) a 3R ¢c ®ad (2)b,diRedaar  (3) b, d R ¢ daa

Question ID: 366694575

Ans.

Sol.

Official Answer NTA (1)

Methods involved in concentration of one are
(1) Hydraulic Washing

(i1) Froth Flotation

(iii)) Magnetic Separation

(iv) Leaching

(4)c,d and e only

4) ¢, d 3R e Tadt

An organic compound 'A' with emperical formula C ,H,O gives sooty flame on buring. Its reaction with bromine

solution in low polarity solvent results in high yield of B. Bis

OH

Br CH,CH,

(1) 2)
Br

Br
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Br CH,CH,Br
OH
3) “4) /
0
TS e Alfies frerept gerrgard a1 C H, O 8, STl W dootell ol <l & | $976! Y gd1a faetrae # s
foera= 1 arfifehan o1 uRomw B @9 S=a a1 2 | B 28—

OH
Br CH,CH,
(1) (2)
Br 0
Br
Br CH,CH,Br
OH
3) “4) /
0]
Question ID: 366694585
Ans.  Official Answer NTA (1)
OH
Sol.  Compound Ais which gives sooty flame on burning.
OH
Brz, CS,
273 K
(A) (Minor)
(MaJ or)
(B)
7. When Cu?* ion is treated with K1, a white precipitate, X appears in solution. The solution is titrated with sodium

thiosulphate, the compound Y is formed. X and Y respectively are
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(1) X =Cu,L, Y =Na,S,0,
(2) X =Cu,l, Y = Na,8,0,
(3) X =Cul, Y = Na,8,0,
(4) X =Cul, Y =Na,S,0,

@ Cu?* 3 &1 K1 3 Su=iRa _d 2 A1 fIeae 3 Us 9wa 1derd S BId1 © | faerae &1 rgA= |ifsas
AR T W B W AMEG Y aar g | X aon'Y wen: 8

(1) X =Cu,L, Y =Na,S,0,
(2) X =Cu,l, Y = Na,8,0,
(3) X =Cul, Y = Na,8,0,
(4) X =Cul, Y =Na,S,0,

Question ID: 366694590
Ans.  Official Answer NTA (2)
Sol  2Cu™ +4KI——Cu,l,+1,

White ppt
1, + Na,S,0, —>2Nal + Na,S,0,
X=Cul,
Y =Na,S,0O,

8. Choose the correct set of reagents for the following conversion.
trans (Ph— CH = CH - CH,) — cis (Ph— CH = CH - CH,)
(1) Br,, alceKOH, NaNH,, H, Lindlar Catalyst
(2) Br,,aqeKOH, NaNH,, H, Lindlar Catalyst
(3) Br,, aqeKOH, NaNH,, Na (Liq NH,)
(4) Br,, alceKOH, NaNH,, Na(Liq NH,)
faferRad wuiaRor & fory ifimH®! & A& W BT AT HINY |
trans (Ph— CH = CH - CH,) — cis (Ph— CH = CH - CH,)
(1) Br,, alceKOH, NaNH,, H, fefrseR SaiR®
(2) Br,, aqeKOH, NaNH,, H, ferser SaiRe®
(3) Br,, aqeKOH, NaNH,, Na (59 NH,)
(4) Br,, alceKOH, NaNH,, Na(sd NH,)

Question ID: 366694583
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Ans.  Official Answer NTA (1)

Br Br

Pl AH g |

Sol. =€ . —>PhCH-CH-CH,
H CH,
(1)| Ale. KOH
(2) | NaNH,
Ph CH3 H
Sc-cl <————Ph-C=C-CH,
u- \H Lindlar’s
Catalyst

9. Nd* =

(1)4f (2) 4f%6s? (3) 4f (4) 4f*6s?

Nd* =

(1)4f (2) 4f%6s> (3) 4f (4) 4f'6s?
Question ID: 366694578
Ans.  Official Answer NTA (3)
Sol.  Nd(Z = 60) = 4f*6s>

Nd* =4f
10. A protein X' with molecular weight of 70,000 u, on hydrolysis gives amino acids. One of these amino acid is

CH, CH,
| |
O CH, - CH- CH —CH, - COOH 2 CH, - CH-CH, - CH —COOH
| |
NH, NH,

CH,
NH, - CH, — CH - CH,CH,COOH |
| CH,— C —CH,-CH,COOH
3) (4) |
CH,
NH,

anfoaes g 70,000 u & Wi X! S 3rgEe R VHIAT 37 Sl ® | S 1 U VHIAT 3 2—
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CH,

CH,

| |
@ CH, - CH- CH -CH, - COOH 2 CH, - CH-CH, - CH - COOH
| |

NH, NH,

CH,

NH, —CH, - CH - CH,CH,COOH |
| CH,- C —CH,-CH,COOH
(3) @) |
CH,
NH

2

Question ID: 366694589

Ans.

Sol.

11.

Official Answer NTA (2)
Protein upon hydrolysis gives ai-amino acids. Only option (2) contains a-amino acid. Hence the correct
answer is (2).

Consider the following reaction

(i)diLNaOH _Product B

(ii)A (CsH,0;)
Propanal + Methanal (i) NaCN

(iv)H,0"

The correct statement for product B is. It is

(1) Optically active alcohol and is neutral

(2) Optically active and adds one mole of bromine

(3) Racemic mixture and gives a gas with saturated NaHCO, solution

(4) Racemic mixture and is neutral

1 arffehan R =R SISy
(i)diLNaOH S B
(ii)A (C;H,0,)
ity + oy (i) NaCN
(iv)H,0"

IR B & foy 981 o 2, 18
(1) Xfafie fHsor 2 3R STRIF 2 |
(2) XRufdep frsror & 3k NaHCO, & 9qw faeras 1 Y I <l € |
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(3) waTRIes Aftha & IR SHF &1 U At Aebfold o oIel § |
(4) yw1RRIe Afha Yepleidl & SeH 8 |

Question ID: 366694586

Ans.  Official Answer NTA (3)

Sol.  CH,-CH,-CHO+HCHO——

] N
CH,-C-C-H—* ,CH,-C —C -H—% 5 CH,-C—C"-H
I I [
CH, CH, CN CH, COOH
()

Carboxylic acid will give CO, gas, with NaHCO, solution
12. Match list-I with list-II

List-I List-II
a. XeF, 1. See-saw
b. SF, ii. Square planar
c. NH," iii. Bent T-shaped
d. BrF; iv. Tetrahedral

Choose the correct answer from the options given below :

(D) a-iv,b-iii, c-ii,d -1 (2)a-ii,b-i,c-ii,d-iv
(3)a-iv,b-i,c-ii,d - iii (4)a-ii, b-i,c-iv,d - iii
A 1 e g2 11 1 et iR |
qA-1 g A-11

a. XeF, i LRl

b. SF4 ii. g7 FHTA

c. NH," i qer gt T-armgfa

d. BrF; iv. FHABIT
A o el # & 981 SR gAg |
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Ans.

Sol.

()a-iv,b-iii,c-ii,d-1i 2)a-ii,b-1,c-1i,d-iv
(3)a-iv,b-1i,c-ii,d-iii (4)a-ii,b-i,c-iv,d-iii
Question ID: 366694572
Official Answer NTA (4)
[N J
F F
Xe
(A)XeF, - Square Planar
F F
LN ]
-7 F
- l
-
F=—_
(B)SF, - -~ 1-\} g Seesaw
F
H +
|
+ _ Nt
(C)NH, 7 w'H Tetrahedral
H
/
(D) BrF, — g Bir_‘E: Bent-t-shaped
:F:

13.

Which transition in the hydrogen spectrum would have the same wavelength as the balmer type transition from
n=4ton=2of He" spectrum

(I)n=2ton=1 2)n=1ton=3 (3)n=3ton=4 4)n=1ton=2

BIESIOH WagH B B FHHY Bl aRiTeed, He" WaeH & IR U121 & n = 4 to n = 2 HHAY &l TR B
A BT

(I)n=2ton=1 2)n=1ton=3 (3)n=3ton=4 4)n=1ton=2

Question ID: 366694571

Ans.

Official Answer NTA (1)
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1 1 1
V . =—=R|—-— |7
SOl. He N |:n12 n;}

- %R
14. The correct increasing order of the ionic radii is
(1) Ca* <K"<ClI' <S> (2) CI"<Ca* <K< §*
B) K" <S§* <Ca* <CI' (4) S* <Cl <Ca* <K*
TS Bremell & 961 B el 4 B -
(1) Ca* <K"<ClI <S> (2) Cl"<Ca* <K< §*
B)KF <S*<Ca* <CI (4) S* <Cl' <Ca* <K~

Question ID: 366694574
Ans.  Official Answer NTA (1)

. . . 1
Sol.  Inisoelectronic species size < 7

Ca’ <K' < CI < §*:Size
Z: 20 19 17 18
15.  H,O,actsasareducing agent in
(1) 2NaOCl1 + H,0, — 2 NaCl + H,0 + O,
(2) Na,S + 4H,0, - Na,SO, + 4H,0
(3) Mn** +2H,0, - MnO, + 2H,0
(4) 2Fe*" + 2H" + H,0, — 2Fe*" + 2H,0
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H,0, & s dHe & w5 H e SRl el 8, 98 siffhan 8 |
(1) 2NaOCl + H,0, - 2 NaCl + H,O + O,
(2) Na,S + 4H,0, — Na SO, + 4H,0
(3) Mn** +2H,0, — MnO, +2H,0
(4) 2Fe* + 2H* + H,0, — 2Fe* + 2H,0
Question ID: 366694576
Ans.  Official Answer NTA (1)

Sol.  H,0, acts anreducing agent in the following reaction.
NaOCl + H,0, — 2NaCl + H,O + O,
16.  Which of the following artificial sweeteners has the highest sweetness value in comparison to cane sugar ?
(1) Saccharin (2)Alitame (3) Aspartame (4) Sucralose
& YR DI JorT1 7 Fr=ferRad B weRae § A fae! Ay Jaffas €2
(1) dr (2) vferes (3) vera (4) ST
Question ID: 366694588
Ans.  Official Answer NTA (2)
Sol.  Highest sweetness value is of Alitame
Sucralose = 600
Aspartame = 100
Saccharin =550
Alitame =2000

NO,
7 @ Al

Consider the above reaction and identify the product B.

0
] i
7\ C
Nucn”  OH
(1) ©/ ) ©/ \CHZNHZ
MATRIX JEE ACADEMY
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O O
| |
7\ N\
CH, NH, NH CH,
(Sl ¢
NO,
O/ (Al [B]
IR IfAfhar W) foar SISy den Scarg B &1 ug=anfay |
O
| I
7\ C
NHCH, OH
1) O/ 2 O/ “CHNH,
O O
| |
< N\ N en

CH; i

Question ID: 366694587
Ans.  Official Answer NTA (4)
NHCOCH,

H /Pd (CH C0),0
C ,H;,OH Pyrldme

18. Cobalt chloride when dissolved in water forms pink colored complex X which has octahedral geometry. This
solution on treating with conc HCI forms deep blue complex, Y which has a Z geometry. X, Y and Z, respectively,
are
(1) X=[Co(H,0),J**, Y = [CoCl,]*, Z = Tetrahedral
(2) X=[Co(H,0)]’", Y =[CoCl J*", Z= Octahedral
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(3) X=[Co(H,0),CL]J", Y=[CoCL]*, Z = Tetrahedral
(4) X=[Co(H,0),J**, Y =[CoCl,]*, Z = Octahedral
Pldfee TARTSS Bl 59 ofdt 7 bierd & A1 e T &1 Aqe X 99d1 & Rida Snfafd srewasg 2t 8 | 39
frerae o1 A HC1 9 SUaR 6=+ U= TeX Aol TT a1 At Y T 81t & et snfafd Z 71X, Y den Z s
g
(1) X = [Co(H,0),*', Y = [CoCl, >, Z = Trgsheresia
(2) X = [Co(H,0),]*', Y = [CoCl ]*, Z = srewera
(3) X = [Co(H,0),CL]", Y = [CoCl,]*, Z = Trgeheteba
(4) X = [Co(H,0),*', Y = [CoCl ]*, Z = srewera
Question ID: 366694580
Ans.  Official Answer NTA (1)

CoCl,—2 5[ Co(H,0), | (X)

(Octahedral)
lconc HCI
Sol. .
[CoCL] (Y)
Tetrahedral (Z)
19.  Which one of the following statements is correct for electrolysis of brine solution ?
(1) OH" is formed at cathode (2) O, is formed at cathode
(3) Cl, is formed at cathode (4) H, is formed at anode
TS ferae & faega smeed & fog FraforRad wemi § & = ta wel 27
(1) OH s WS- aT B | (2) O, DTS W I 2 |
(3) Cl, B2l R a7l B | (4) H, TS Rl 2 |

Question ID: 366694577

Ans.  Official Answer NTA (1)

Sol.  Electrolysis of brine solution
NaCl(aq.)—> Naz’aq) + Clz'aq)

2Cl,,, ——>ClL(g)+2e”

(Major)

Atanode :

2H,0, —0,,

Minor

© + 4H(aq) +4e

MATRIX JEE ACADEMY
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20.

At Cathode : 2H,0,,) +2¢” ——>H, T +20H,,,

2Na" +20H™ ——2NaOH

Identify X, Y and Z in the following reaction. (Equation not balanced)

ClO" +NO, > X—"% ,Y+7

(1) X=CIONO,, Y =HOCI, Z=NO, (2) X=CINO,, Y=HCI, Z=HNO,

(3) X=CINO,,Y=Cl,,Z=NO, (4) X=CIONO,, Y =HOCI, Z = HNO,
fafoRad i § X, Y @2 Z &1 uganfAy | (Fevor dgferd 8l 2)

ClO" +NO, > X—"% ,Y+7

(1) X=CIONO,, Y =HOCI, Z=NO, (2) X=CINO,, Y=HCI, Z = HNO,

(3) X=CINO,,Y=Cl,Z=NO, (4) X=CIONO,, Y =HOCI, Z = HNO,

Question ID: 366694581

Ans.

Sol.

21.

Official Answer NTA (4)

C10(g) + NO, (g)—>CIONO, (g)

CIONO, (g) + H,0(g) —> HOCI + HNO; (2)

from NCERT

The total pressure of a mixture of non-reacting gases X (0.6 g) and Y (0.45 g) in a vessel is 740 mm of Hg. The
partial pressure of the gas X is mm of Hg. (Nearest Integer)

(Given : molar mass X =20 and Y =45 g mol ™)

a1 X dn Y @l amfdaes wefa smerer: 20 den 45 g mol ™! 8 157 e 0.6 g 921 0.45 g & Ud aai+ § @
R 35707 1 et a6 740 mm Hg 2 | 3’9 X &7 31if¥ies <9 2 mm Hg (Raeds gurie #)

Question ID: 366694592

Ans.

Sol.

Official Answer NTA (555)
P =740 mm of Hg

Total

P, =mole fraction of [X]P__

n, =28 _0.03
20

n, =29 01
45
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0.03 3

Mole fraction of X

T0.01+0.03 4
. 3
Partial pressure of X = 2 740

=555mm of Hg
22. A—-B

The rate constant of the above reaction at 200 K and 300 K are 0.03 min! and 0.05 min ' respectively. The

activation energy for the reaction is J (Nearest integer)
(Given:In10=2.3)

R=8.3JK"'mol"

log5=0.70

log3=0.48

log2=0.30

Given: 1096

A—>B

SuRIFR 31ffshar & ferg 200 K @2 300 K o &1 Reries w2 0.03 min' @2 0.05 min™' 2 | sfafhan &
forg Afthaor St & J (Freveas guris )

(g : In 10 =2.3)

R=8.3JK"'mol’

log5=0.70

log3=0.48

log2=0.30

Question ID: 366694597
Ans.  Official Answer NTA (2520)

S T

Ky 23x8314\T, T,

0.05 E, { 1 1 }
log = X -
0.03 2.305x8314 [ 200 300

E,=251988J=E, 6 =2520)

23.  Forreaction: SO, (g)+ %02 (g)=150,(g)
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K =2x 10" at 27°C and 1 atm pressure. The K. for the same reaction is x 108, (Nearest

integer)
(GivenR=10.082 L atm K-' mol ™)

ST : SO, (e) +0, (8) =50, (¢) 3 frg
27°C e 1 atm SR K =2 x 107 & | 5301 arfdfspan & forg K & x 10" & (e ot #)
(g : R=0.082 L atm K ' mol ™)

Given: 1

Question ID: 366694595

Ans.

Sol.

24.

Official Answer NTA (1)

SO, +lO2 =S50,
® 2 @ (e)

K, =K, (RT)"

2x102 =K, (0.082x300) "

1/2

K, =2x10” x(0.082x300)

=9.9 x 10"
=0.99 x 10"

~1x10"

At 27°C, asolution containing 2.5 g of solute in 250.0 mL of solution exerts an osmotic pressure of 400 Pa.

The molar mass of the solute is gmol! (Nearest integer)

(Given : R=0.083 L bar K' mol )

27°C wR 2.5 g faera &1 250.0 mL fae@m 400 Pa. &1 URTARYT &6 SO~ Rl & | e @l Jrer wafa
g mol! 7| (FrreaH gurie )

(g : R =10.083 L bar K! mol™)

Question ID: 366694594

Ans.  Official Answer NTA (62250)
Sol.  n=CRT
2.5¢
4(1)233 250 i\/IIOOOOL <083 ];(_n?c?lr *300K
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M_ = 62250

25.  Thelogarithm of equilibrium constant for the reaction Pd** +4Cl" = PdCl,* is (Nearest integer)

2.303RT _0.06V

Given:
Pdj; +2¢" =Pd(s) E°=083V

PdCI;" (aq)+2¢” =Pd(s)+4Cl (aq) E®=0.65V

aIfffsar Pd> + 4C1 = PACL?> & forg wm fadies &1 dlfRed & (e qurie #)

2.303RT

g =0.06V

Pdj; +2¢" =Pd(s) E°=083V
PdCI;" (aq)+2¢” =Pd(s)+4Cl (aq) E®=0.65V
Given: 6

Question ID: 366694596

Ans.  Official Answer NTA (6)

Sol.  Givenreaction Pd** +4CI™ = [PdCl, ]~

E::)ell = E(l;d“\Pd - E;’PdCl_,,)z_|Pd

=0.83-0.65
=0.18
o006

Ecell =4 Tlog Keq
0.06

0.18= Tlog Keq
log K, =6

1
26. The enthalpy change for the conversion of > Cl, (g) to Cl(aq)is (-) kJ mol (Nearest integer)

Given : AdISng(g) =240 kJ mol ™", AegHg(g) =-350 kJ mol ™" |

o _ -1
Ay HE, =-350 kI mol

%Cl2 (g) ¥ CI (aq) & U & forg Yoredt uRad= & (—) kJ mol™! (Frpec qurfe #)
e Adlngz(g) =240 kJ mol ™ | AegHg(g) =-350 kJ mol ™" |

e _ -1
A HE, =350 kI mol
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Question ID: 366694593

Ans.

Sol.

27.

Official Answer NTA (610)

%Clz (g)—Cl,, AH=?

1 o o o
A =~ A Hey + A AHG ) + Ay H

Clig)
- %x 240+ (~350) + (-380)

=-610kJmol”

Zinc reacts with hydrochloric acid to give hydrogen and zinc chloride. The volume of hydrogen gas produced
at STP form the reaction of 11.5 g of zinc with excess HCl is L (Nearest integer)

(Given : Molar mass of Zn is 65.4g mol™' and Molar volume of H, at STP=22.7 L)

7 W ETSSIFANRD 1T D1 AR B9 IR B gIoH ol Nid delRigs S~ e ® 1 afe 11.5 g Kiw o HCI
& AR A STAfha &1 ST Al STP R S0+ SIS SISl N &I TR 8T L (Fraeaw gorie #)
(fezm & : R 1 AreR el 8 65.4 g mol™)

Question ID: 366694591

Ans.
Sol.

28.

Official Answer NTA (4)
Zn+2HCl— ZnClL, +H, T

11.5
Moles of Zn used = P = Moles of H, evolved

11.5
=——x22.7L.=3.99L
Volume ofH2 5.4 X

On complete combustion, 0.492 g of an organic compound gave 0.792 g of CO,. The % of carbon in the

organic compound is (Nearest integer)

0.492 g e AfiTep &1 goi &8 0.792 g CO, <@ & | Brafrep ANfes A Hra o1 ufererd 2| (FrepeH
it )

Question ID: 366694599

Ans.

Sol.

Official Answer NTA (44)
44 gm of CO, contains 12 g carbon

0.792x12
0.792 gm of CO, contains TX g of carbon

0.216

% of carbon = 0492 %100
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= 43.9% = 44%

29.  The oxidation state of phosphorus in hypophosphoric acid is +
BISUIBIDIRD 37l H BIEHIRY B AFATBRUT FaRAT B

Question ID: 366694598
Ans.  Official Answer NTA (4)

Sol.  Hypophosphoric acid H,P,O,

Oxidation state is +4

o O

]l
HO-P-P-OH
|

OH OH

30.  Howmany of the transformations given below would result in aromatic amines ?

O

(1) I\IH2 + BI'2 +NaOH ——

Cl
el

NK ——

)

0

NO,
_
3) Pd/C

NH COCH,

(4) dll HZSO4

A

A= 3 wur=aron § 4 fhadi o1 uRomy Wiifes VAl & wu 3 281 |
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O

(1) I\H‘I2 + Br2 +NaOH ——

o

NK ——

)

=

NO,

3) Pd/C

&
:

NH COCH,

(4) dll HZSO4

>|

Question ID: 366694600

Ans.

Sol.

Official Answer NTA (3)
Product in the given reactions are as follow-

NH,

o

Cl

2. No reactions will be observed as in Gabriel phthalimide synthesis is poor substrate for SN?

NH,

5

NH,

+ CH,COOH

5

Aromatic amines will he formed ilMARRIX JEE ACADEMY
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